
●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●
●

●

fref(Hz)

df
(H

z)

150000 200000 250000

-4
.5

-3
.5

-2
.5

fref vs mean(fmeas)-fref

lsfit: slope= -1.571e-05 ,intcp= -0.0034

●

●

●

●

●

● ●

● ● ●

●

●

●

● ●

●

●

●
●

fref(Hz)

df
(H

z)

150000 200000 250000

-0
.0

05
0.

00
5

fref vs mean(fcor)-fref

corrected clock= 20000314.13  Hz

● ● ● ● ●
●

●
●

●
●

●
●

●
●

●
●

●
●

●

fref(Hz)

df
(H

z)

150000 200000 250000

0.
0

0.
2

0.
4

fref vs various df's

line: slope=1.e-6
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